



St. Louis County, Minnesota

Date of Report: 5/5/2025 8:01:40 PM

General Details

 Parcel ID:
 300-0010-01174

 Document:
 Abstract - 01470861

Document Date: 07/19/2023

Legal Description Details

Plat Name: COLVIN

Section Township Range Lot Block

8 56 15 - -

Description: Northerly 719.76 feet of NE1/4 of NE1/4, EXCEPT the Northerly 535.70 feet of Easterly 487.79 feet of NE1/4 of

NE1/4; AND EXCEPT the Easterly 580.80 feet of NE1/4 of NE1/4, except the Northerly 535.70 feet of said NE1/4 of

NE1/4.

Taxpayer Details

Taxpayer Name TESSMER DENELLE & CHRISTOPHER

and Address: 5528 WILSON RD

MAKINEN MN 55763

Owner Details

Owner Name TESSMER CHRISTOPHER
Owner Name TESSMER DENELLE

Payable 2025 Tax Summary

2025 - Net Tax \$1,479.00

2025 - Special Assessments \$85.00

2025 - Total Tax & Special Assessments \$1,564.00

Current Tax Due (as of 5/4/2025)

Due May 15		Due October 15		Total Due			
2025 - 1st Half Tax	\$782.00	2025 - 2nd Half Tax	\$782.00	2025 - 1st Half Tax Due	\$782.00		
2025 - 1st Half Tax Paid	\$0.00	2025 - 2nd Half Tax Paid	\$0.00	2025 - 2nd Half Tax Due	\$782.00		
2025 - 1st Half Due	\$782.00	2025 - 2nd Half Due	\$782.00	2025 - Total Due	\$1,564.00		

Parcel Details

Property Address: 5528 WILSON RD, MAKINEN MN

School District: 2711
Tax Increment District: -

Property/Homesteader: TESSMER, CHRISTOPHER L & DENELLE K

Assessment Details (2025 Payable 2026)									
Class Code (Legend)	Homestead Status	Land EMV	Bldg EMV	Total EMV	Def Land EMV	Def Bldg EMV	Net Tax Capacity		
201	1 - Owner Homestead (100.00% total)	\$46,200	\$148,300	\$194,500	\$0	\$0	-		
	Total:	\$46,200	\$148,300	\$194,500	\$0	\$0	1655		





St. Louis County, Minnesota

Date of Report: 5/5/2025 8:01:40 PM

Land Details

Deeded Acres: 14.20 Waterfront: Water Front Feet: 0.00

Water Code & Desc: W - DRILLED WELL

Gas Code & Desc:

Sewer Code & Desc: S - ON-SITE SANITARY SYSTEM

Lot Width:	0.00								
Lot Depth:	0.00								
The dimensions shown are n									
https://apps.stlouiscountymn.	.gov/webPlatsIframe/f				ions, please email PropertyTa	ax@stlouiscountymn.gov.			
Improvement 1 Details (RESIDENCE)									
Improvement Type	Year Built			Gross Area Ft ²	Basement Finish	Style Code & Desc.			
HOUSE	1975	1,064		1,596	AVG Quality / 532 Ft ²	AF - A-FRAME			
Segment	Story	Width	Length		Foundati				
BAS	1.5	28	38	1,064	BASEME	BASEMENT			
SP	0	7	18	126	CANTILEV				
Bath Count	Bedroom Co		Room (Fireplace Count	HVAC			
2.0 BATHS	2 BEDROOM	IS	6 ROO	MS	1	CENTRAL, FUEL OIL			
Improvement 2 Details (Gar)									
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	1975	86	4	864	-	DETACHED			
Segment	Story	Width	Length	Area	Foundati	n			
BAS	1	24	36	864	FLOATING S	SLAB			
		Impro	vement 3	Details (Gar)					
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
GARAGE	0		336 336		-	DETACHED			
Segment	Story	Width	Length		Foundation				
BAS	1	14	•		FLOATING SLAB				
				4.5.4.11.404					
		=		4 Details (St)					
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	24		240		-			
Segment	Story	Width	Length		Foundati				
BAS	1	12	20	240	POST ON GR	ROUND			
		Improver	nent 5 De	tails (ST 14X1	6)				
Improvement Type	Year Built	Main Flo	or Ft ²	Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	22	4	224	-	-			
Segment	Story	Width	Length	Area	Foundati	on			
BAS	1	14	14 16 224		POST ON GR	OUND			
LT	1	7	16	112	POST ON GR	ROUND			
Improvement 6 Details (ST 8X12)									
Improvement Type	Year Built	Main Flo		Gross Area Ft ²	Basement Finish	Style Code & Desc.			
STORAGE BUILDING	0	96		96	-	-			
Segment	Story	Width	Length		Foundati	on			
BAS	1	8	12	96	POST ON GR				
	•	-			, , , , , , , , , , , , , , , , , , , ,				





St. Louis County, Minnesota

Date of Report: 5/5/2025 8:01:40 PM

		Improve	ment 7 Deta	ails (S	T 8X12)						
Improvement Type Year Built		•	•				sement Finish		Style Code & Desc.		
STORAGE BUILDIN		96	96 9			-				-	
Segme	nt Stor	y Width	Length	h Area		Foundation					
BAS 1		8	12	ę	96 POST ON GROUND						
		Improve	ement 8 Det	ails (S	ST 8X8)						
Improvement Type Year Built		Main Flo	Main Floor Ft ² Gross A				ment Finish		Style Code & Desc.		
STORAGE BUILDIN			64		64		-			-	
Segme		•	Length	Area 64			Foundation POST ON GROUN				
BAS	1	8	8				2051 ON 0	3KOUN	טו		
		•	ment 9 Deta	•				_			
Improvement Typ							ment Finish		Style Code & Desc.		
STORAGE BUILDIN			180 18			- Earradati			-		
BAS	1	y widii 12	15	Length Area 15 180		Foundation POST ON GROUND					
	<u> </u>					•					
Improvement Typ	o Voor Buile	•	ment 10 Det	-	-	Basemen	t Einich		Stulo C	ode & Desc.	
STORAGE BUILDIN	• •				rea Ft ² Baser 4		t Fillish	3	otyle C	ode & Desc.	
Segmen			Length			Foundation					
BAS	, and the second			POST ON GROUND							
		Sales Reported	to the St. L	ouis (County Aug	litor					
Sa	le Date	•	Purchase Pi		•		CR	V Num	ber		
07	7/2023		\$220,000			254893					
11	/2020		\$127,500)				240151			
		A	ssessment l	Histor	у						
Year	Class Code (Legend)	Land EMV	Bldg EMV		Total EMV		Def Land EMV	В	ef Idg MV	Net Tax Capacity	
	201	\$50,400	\$158,80	00	\$209,200		\$0	9	60	-	
2024 Payable 2025	Total	\$50,400	\$158,80	00	\$209,200		\$0	\$	60	1,815.00	
	201	\$42,200	\$105,400		\$147,600		\$0	9	50	-	
2023 Payable 2024	Total	\$42,200	\$105,40	00	\$147,600		\$0	\$	50	1,236.00	
	201	\$42,200	\$96,100	0	\$138,300		\$0	9	80	-	
2022 Payable 2023	Total	\$42,200	\$96,100	0	\$138,300		\$0	\$	60	1,135.00	
0004 Paral I 0000	201	\$36,500	\$80,100	0	\$116,600		\$0	9	60	-	
2021 Payable 2022	Total	\$36,500	\$80,100	\$80,100 \$116			\$0		60	899.00	
		1	Γax Detail H	istory							
Tax Year	Tax	Special Assessments	Total Tax of Special Assessmer		Taxable Land		axable Bui MV	lding	Total	l Taxable MV	
2024	\$1,127.00	\$85.00	\$1,212.00	0	\$35,351		\$88,293		\$123,644		
2023	\$1,121.00	\$85.00	\$1,206.00	0	\$34,635		\$78,872		\$113,507		
2022	\$997.00	\$85.00	\$1,082.00	0	\$28,128		\$61,726	3	\$89,854		





St. Louis County, Minnesota

Date of Report: 5/5/2025 8:01:40 PM

Disclaimer: St. Louis County makes no representation or warranties, express or implied, with respect to the use or reuse of data provided herewith, regardless of its format or the means of its transmission. THE DATA IS PROVIDED 'AS IS' WITH NO GUARANTEE OR REPRESENTATION ABOUT THE ACCURACY, CURRENCY, SUITABILITY, PERFORMANCE, MERCHANTABILITY, RELIABILITY OR FITNESS OF THIS DATA FOR ANY PARTICULAR PURPOSE. St. Louis County shall not be liable for any direct, indirect, special, incidental, compensatory or consequential damages or third party claims resulting from the use of these data, even if St. Louis County has been advised of the possibility of such potential loss or damage. These data may not be used in states that do not allow the exclusion or limitation of incidental or consequential damages.